CLASS : 10th (Secondary) Code No. 5507
Series : Sec. April/2021

Roll No. SET : A
GIGIECACEIE] MAP

SOCIAL SCIENCE
(History, Political Science, Geography and Economics)
HT-1
PART -1
(srreafores 59 )

(Subjective Questions)

(Academic/Open)
[ &= wd S e |
[ Hindi and English Medium ]
(Only for Fresh/Re-appear Candidates)

77 : 21 ge] [ g% : 80 (AF-1 : 40, AFHII : 40)
Time allowed : 21 hours] [ Maximum Marks : 80 (Part-I : 40, Part-II : 40)

ge-o & AF & Rl R AR (STeiNS) wE AR-II (ﬁ%ﬁ qlemdt & aF AR & S
% I B AU IAX GRTH § @ 31 990 B OAF-L AT B W Ued SR-gRas
3 an R stom qon AE-IL % [0 Rl @ 0% qe w aWd Rar Som sreig wder @
BN T geT qd qdemel St w11 & geE-us Rar smem

-1 & OF-0 & g 12 U 0@ qF-I1 & 999-99 & Fa 40 999 8

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 12 and of Part-II are 40.

o P AT BT I % FT FIT-0T F JRT g 4 T 597 12 8
Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 12 questions.
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(2) 5507/(Set : A)
o YT 7 qlfe & & GV 77 T &S T 7Ol @ # G FACYRaH & FI-JS GT v

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o DU IS F FA GG G BT G Y&, JIT F FHH I iG]
Before beginning to answer a question, its Serial Number must be written.

o JuT-Yiasr & dia 7 @l G/ 91 7 818/
Don’t leave blank page/pages in your answer-book.

o FuTYRaE & SRk g o e T Al o sTavmdgar & g eiv fiar s 7
FI2]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

o TR T T To JeT-UH YT S7ae [
Candidates must write their Roll Number on the question paper.

o U o7 # FAT 37 § {d ' GARTGd #T T [ J97-99 [ T @& & GO B IIT 59
T 7 g o qar w&hHe T8 A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instructions :
() & FeT S 8
All questions are compulsory.
(i) T G B S FTH FTT G T &
Marks of all the questions are shown against them.
(iii) [FF F97 % T GFN F FAX TF & G G- ar Gorg
Attempt all parts of a question together.
(iv) 2 & a7 J&% F97 FT F7 30 & @ 379% 7 &
Answer to each question carrying 2 marks should not exceed 30 words.

(v) 3 FH FIA FE9% F97 F ITT 40 7 60 =T & 3EE T &l

Answer to each question carrying 3 marks should not exceed 40 to 60
words.

(vi) 5 Sl FIT HE9% 797 # I 100 & 125 =] @ 384% 7 &l

Answer to each question carrying 5 marks should not exceed 100 to 125
words.
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(vii) F97 GET 9 % [0 [fT T4 GG & & FHEA B oY FAT-gieasl & G oaey
G HIforg
You must attach the given outline map of India for Question Nos. 9 along
with your answer book.

(viii) F9IT HIEE YT ST FO-Yraw & FHE 9T [iEg

You must write your Answer Book Sr. No. on the map.

[ S ]
[ HISTORY ] [M. M. : 10
1. QU ¥ ge=iih fafy i i g3 ? 2
Why did the Woodblock Method become popular in Europe ?
2. IqXA & o o e & fay & =10 g 7 3
Why were Indians outraged by the Rowlatt Act ?
3. RNl T Wiedned & = Bl g B 5
Compare the views of Liberals and Conservatives.
HAYAT
OR

el W F ARG § UgdrE & e § e SR gerEdr @ P s i)

How print culture assisted the growth of Nationalism in India ? Explain.

KERICREEISE
[ POLITICAL SCIENCE ] [M. M. : 10

4. oGS THEET T8 7 2
What is political equality ?

5. 1992 % HJYM @M & Tedl O} & & MG M & Hew@yul okl &l JaEyl 3

State important differences between the Local Government before and after the
Constitutional Amendment in 1992.

6. I T & A FI-F gRleEr © ¢ 5
What are the various challenges faced by the political parties ?
HAYAT
OR
Mebci F Tl P AEErd F oSS © g i

Why is power sharing necessary in democracy ? Explain.

5507/(Set : A)/ | P.T.O.
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[ T ]
[ GEOGRAPHY ] [M.M.: 10
7. HERYT FER T ? 2
What are Basic Industries ?
8. fafior & 2 7 R & 3
Give definition of Manufacturing Industry.
9. P FH IRAMNT B AR FA@T H S B AT H| 5
Give definition of Farming (Agriculture) and describe "Rice" crop.
AYAT
OR

frfafad & grvg & @RS W ISR #1

Represent the following on the outline map of India :

(i) PEET ST
Koyana Dam
(i) 9RIR Ty
Pariyar Dam
(iii) wTHET &
River Narmada
(iv) HeMal =l
River Mahanadi
(v) O HYE
Paradeep Seaport
[ e ]
[ ECONOMICS ] [M.M.: 10
10. S%i & #i3 & T HE T 2
State any two main functions of Banks.
11. w1 aAfefeE, 2005 & 689 | re i 3
Explain in brief, MGNREGA Act, 2005.
12. IR |ied W, fEdas dqor quias & § o= T $i 5
Differentiate between Primary, Secondary and Tertiary Sectors with examples.
AYAT
OR

qRONE 1 fawd, fem &g # Fewyel © ? ave sl

Why is the issue of sustainability is important for development ? Explain.
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CLASS : 10th (Secondary) Code No. 5507
Series : Sec. April/2021

Roll No. SET : A
qmeTE s

SOCIAL SCIENCE

(History, Political Science, Geography and Economics)
HIMT-11
PART - 11

(aEgFrs a%)

(Objective Questions)

(Academic/Open)
[ &= wd S e |
[ Hindi and English Medium ]
(Only for Fresh/Re-appear Candidates)

o U Tq F A G F 3T FT-0T § JET T 8 T 97 40 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 40 questions.

o ghereff orgar U To FIT-UA T T [rd)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FY 37 @ [@ 98 FrRET #T o [ geT-9A §U 7 e 8, qhEr & I 59
T ig A arar @w el A aEm

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 73
General Instructions :
(i) @ Jo7 ST &
All questions are compulsory.

5507/(Set : A)/ I P.T.O.
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(i) @& TIT Sy FAT-gréaHr H ey

Write correct answer in your answer-book.

[ sfer |
[ HISTORY ] [ M. M. : 05
1. SO & 99 QO gfd @ SiH-a1 8 1
(A) BT (B) SRHS g
(C) Werrd (D) ZHA
Which is the oldest printed book of Japan ?
(A) Bible (B) Diamond Sutra
(C) Mahabharata (D) Ukiyo
2. e, SHferiarar aFT ge & fore Saver am 1
INIESISES | (B) i g
(C) STRA S (D) e Adeded
........... was responsible for the Jallianwala Bagh incident.
(A) Lord Curzon (B) Lord Irwin
(C) General Dyer (D) Lord Mountbatten
3. Wi F w9 g ? 1
(A) 1788 F (B) 1789 #
(C) 1790 ¥ (D) 1791 #
When did French revolution occurred ?
(A) 1788 (B) 1789
(C) 1790 (D) 1791
4. 1804 3o % MRS izl HAHAR W 68 T9 & S SHl & 7 1

Which name was usually known for the Civil Code of 1804 AD ?

5. =M & gEo Al 1 9@ Sk b o ? 1

Who was the major producer of printing material in China ?

5507/(Set : A)/ I
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[ Tt T ]
[ POLITICAL SCIENCE ] [M. M. : 15
6. 19709 1993 % di= afecrem & dfaw & ol IR dale e T ? 1
(A) & SR (B) dM SR
(C) =N X (D) T% s
How many times the Constitution of Belgium was amended between 1970 to
1993 ?
(A) Two times (B) Three times
(C) Four times (D) One time
7. Sidw B AN G99 997 w6 e A aE w6 8 7 1
(A) Rl (B) i Tt
(C) s R (D) FfRem
Which major Social Group constituted the largest share in population of Sri
Lanka ?
(A) Sinhalas (B) Sri Lankan Tamils
(C) Indian Tamils (D) Muslims
8. WM @y FeEl § a9 @ § #1 4 $9 @-loer 9 R § 1
(A) 9&W % [T (B) #fearst & o
(C) =i & fom (D) STTgRR Sl & for

In Local Self-government Institutions at least one-third of all positions are
reserved for :

(A) Men (B) Women
(C) Children (D) Scheduled Tribes
9. fr=fafad s & | HIF-T1 39 ‘A AR T I H IaET © 7 1
(A) FFHRHT (B) wd
(C) UIieh&™ (D) &=
Which of the following countries is an example of 'coming together federation' ?
(A) USA (B) India
(C) Pakistan (D) Spain
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10.

11.

12.

13.

14.

15.

16.

(4) 5507/(Set : A)

RA & YA AR § A St B drl &al B GE e © 7

(A) 100 (B) 200

(C) 300 (D) 750

How many parties are registered with the Election Commission of India ?
(A) 100 (B) 200

(C) 300 (D) 750

g & fbae 2 § A aree Faen § 7

(A) 22 B) 25

(C) 20 (D) 30

How many countries have Federal Political System in the World ?
(A) 22 B) 25

(C) 20 (D) 30

‘e’ 1 TSTHAT &SI e T

(A) 1947 # (B) 1956 #

(C) 1950 # (D) 1949 #

'Sinhala" recognized as official language in :

(A) 1947 (B) 1956

(C) 1950 (D) 1949

AR T B F gE-REd @ ¥ ?

What is the Election Symbol of Indian National Congress ?

ARG A ST qTAT] eer el e ?

Where India conducted its Nuclear Test ?

TS A F 80 HIEEl AT ..o EISSI
In the Capital city Brussels, 80 percent people speak............ .

T Fm A U9 SRR T fFdl dhd T ERER B 3 @ ARt g, @ S ..

FEd 2l

1

e

When power is taken away from Central and State Government and given to

Local Government, it is called .............. .
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17. 9 TS HiEG S o %9 g3 ? 1

When was Indian National Congress founded ?

18. 9RA # fhH YR P T HIel © ? 1
What type of Party System do we have in our country ?

19. wyFE @ FeeE # o 9e Afeeret & g oRfed g 7 1
How many seats are reserved for women in Local Self-government ?
20. FH  FH A THIGH aoll & Toaaq § T THR H T Fal Al 8 7 1
When two or more political parties form the government, what is it called ?
[ T ]
[ GEOGRAPHY ] [ M. M. : 15
21. f=fared & & f6a o 7 digeR (F9m) Sdt # SR © 7 1
(A) U (B) SU-TRY B V&N
(C) &R (D) IAES

In which one of the following States is the terrace cultivation practised ?

(A) Punjab (B) Plains of Uttar Pradesh
(C) Haryana (D) Uttarakhand
22. o (3) & Fffa Rred & 9@ Sand) 1
Give name of the soil which is formed by Lava (magma).
23. &= § § HH-91 T SON-oAYI-TRINYT TRY-AB & 787 91 & 7 1
(A) @A HR (B) WERTS
() T (D) TR &
Which one of the following States is not connected with the H.B.J. pipeline.
(A) Madhya Pradesh (B) Maharashtra
(C) Gujarat (D) Uttar Pradesh

5507/(Set : A)/ 1l P.T.O.
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24. W= ¥ 9§ R § ‘guURY AR Y a9 7 ger ? 1
(A) 1786 (B) 1950
(C) 1917 (D) 1970
Out of the following in Bihar when Champaran Movement took place in which
year ?
(A) 1786 (B) 1950
(C) 1917 (D) 1970

25. ¥R H TR AR HEHl W 68 Sl S B H G606 Sl @17 1

In Champaran Movement in Bihar started because of farmers were forced to
grow which crop ?

26. zTH § HH-H @ HOA © 7 1
(A) =Ed (B) # M
(C) = (D) U™

Which one of the following is a Rabi Crops ?

(A) Rice (B) Millets
(C) Gram (D) Cotton
27. ‘g gl TG FAl gol o ? 1

Where was First Earth Summit' held ?

28. ‘Fed WY H TN T § uRdfid X o AR § awgell & ST d, T bl

S ® 7 )
'Production of valuable products after processing from Raw material'. What we
call ?

29. 7 ol 9 AR UeHd FEN, F omeRa e ¥ ? (&T/7E]) 1
Are Cotton Textile and Jute Industries dependent on Agriculture ? (Yes/No)

5507/(Set : A)/ I
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30. fr=1 & § yBem A% Wi 9 IEN 1854 H FRI AT T 7 1
() Rl § (B) F= #
(C) g H (D) T H
Out of the following where a first successful Textile Mill was established in
1854 ?
(A) Delhi (B) Mumbai
(C) Pune (D) Surat
31. F 9RA YeET 9 Yodd (AT GEM # 999 T91 IAEH o 7 (&1/7E]) 1
Is India a largest producer of Raw Jute and Jute Goods ? (Yes/No)
32. = & | HH-6 ToiE AEe & §, ©id B GeR § Iude B ¢ 7 1
(A) = (B) T<ME-&EM
(C) &« (D) MNCC
Which of the following Agency provide Steel to the market in the public
Sector ?
(A) HAIL (B) Tata-Steel
(C) SAIL (D) MNCC
33. Fr ufr 100 o Rl & & HewH B TEE F WSH oA Hel A Q7 (&1/7E]) 1
Is the length of Road per 100 square Km. of area is known as Density of
Roads ? (Yes/No)
34. T I=E TAR AW H AEAFH FEH FIE-TT 2 7 (&T/7E]) 1
Is Chennai the oldest artificial seaport of India ? (Yes/No)
35. g uREed & U Fefefed § @ e ad § fhar my ? 1
(A) 1857 (B) 1953
(C) 1915 (D) 1950

Out of the following in which year Air Transport was Nationalised on the
operational side ?

(A) 1857 (B) 1953
(C) 1915 (D) 1950
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[ srdsTe |
[ ECONOMICS ] [ M. M. : 05
36. HEWE AR Fofl &= fhd o W it 8 7 1
(A) VTR H A&t | (B) i il & @ W
(C) TEHl & @i W (D) &R & HEa W
The Sectors are classified into Public and Private Sector on the basis of :
(A) Employment conditions (B) The nature of Economic activity
(C) Ownership of enterprises (D) Number of workers.
37. 9RA H, Th B H AT ..o ST BT B 1
(A) WRd "N (B) &R aw&R
(C) THo Hlo 3o (D) @Ro o Mo
In India, .............. issues one rupee note.
(A) Govt. of India (B) Govt. of Haryana
(C) SBI (D) RBI
38. wHo o ARo F T & REy 1
Write full form of HDI.
39. Hf<W FEgt F o FARU 1
What do you mean by Final Goods.
40. ST T @ ... & o e fRar St & ? (St /A 1
Banking Services are included in ............. Sector. (Primary/Tertiary)
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CLASS : 10th (Secondary) Code No. 5507
Series : Sec. April/2021

Roll No. SET : B
GIGIECACEIE] MAP

SOCIAL SCIENCE
(History, Political Science, Geography and Economics)
HT-1
PART -1
(srreafores 59 )

(Subjective Questions)

(Academic/Open)
[ &= wd S e |
[ Hindi and English Medium ]
(Only for Fresh/Re-appear Candidates)

77 : 21 ge] [ g% : 80 (AF-1 : 40, AFHII : 40)
Time allowed : 21 hours] [ Maximum Marks : 80 (Part-I : 40, Part-II : 40)

ge-o & AF & Rl R AR (STeiNS) wE AR-II (ﬁ%ﬁ qlemdt & aF AR & S
% I B AU IAX GRTH § @ 31 990 B OAF-L AT B W Ued SR-gRas
3 an R stom qon AE-IL % [0 Rl @ 0% qe w aWd Rar Som sreig wder @
BN T geT qd qdemel St w11 & geE-us Rar smem

-1 & OF-0 & g 12 U 0@ qF-I1 & 999-99 & Fa 40 999 8

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 12 and of Part-II are 40.

o P AT BT I F FT FIT-0T F JRT g 4 T 597 12 8
Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 12 questions.

5507/(Set : B)/ | P.T.O.
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o YT 7 qlfe & & GV 77 T &S T 7Ol @ # G FACYRaH & FI-JS GT v

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o DU IS F FA GG G BT G Y&, JIT F FHH I iG]
Before beginning to answer a question, its Serial Number must be written.

o JuT-Yiasr & dia 7 @l G/ 91 7 818/
Don’t leave blank page/pages in your answer-book.

o FuTYRaE & SRk g o e T Al o sTavmdgar & g eiv fiar s 7
FI2]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

o TR T T To JeT-UH YT S7ae [
Candidates must write their Roll Number on the question paper.

o U o7 # FAT 37 § {d ' GARTGd #T T [ J97-99 [ T @& & GO B IIT 59
T 7 g o qar w&hHe T8 A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instructions :
() & FeT S 8
All questions are compulsory.
(i) T G B S FTH FTT G T &
Marks of all the questions are shown against them.
(iii) [FF F97 % T GFN F FAX TF & G G- ar Gorg
Attempt all parts of a question together.
(iv) 2 & a7 J&% F97 FT F7 30 & @ 379% 7 &
Answer to each question carrying 2 marks should not exceed 30 words.

(v) 3 FH FIA FE9% F97 F ITT 40 7 60 =T & 3EE T &l

Answer to each question carrying 3 marks should not exceed 40 to 60
words.

(vi) 5 Sl FIT HE9% 797 # I 100 & 125 =] @ 384% 7 &l

Answer to each question carrying 5 marks should not exceed 100 to 125
words.
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(vii) F97 GET 9 % [ [fT T4 NG & & FHEA B oY FIT-gieasl & G oaey
G HIforg
You must attach the given outline map of India for Question Nos. 9 along
with your answer book.

(viii) F9IT HIEE YT ST FO-Yraw & FHE 9T [iEg

You must write your Answer Book Sr. No. on the map.

[ i ]

[ HISTORY ] [M. M. : 10
1. 90 §&pid 9 qRA § A & [9he J e SR el H ¢ W S 5

How print culture assisted the growth of Nationalism in India ? Explain.
AYAT
OR

SERENedl quT Sieanedl & =Rl & e H

Compare the views of Liberals and Conservatives.

2. U 7 ge=ciiap fafy i waferd g5 ? 2

Why did the Woodblock Method become popular in Europe ?
3. ARG & o ol U & faqg § 4 & 7 3

Why were Indians outraged by the Rowlatt Act ?
KEEICACEIE
[ POLITICAL SCIENCE ] [M. M. : 10
4. Tk § T B AHER TS 2 ? g i 5

Why is power sharing necessary in democracy ? Explain.
AYAT

OR
TSI St & AR - Rt § 7

What are the various challenges faced by the political parties ?

5. oIS GHMECT 397 8 7 2
What is political equality ?

6. 1992 % UM FMET & Tl AR TE & WFF AET & Tow@qol i H TaEU 3

State important differences between the Local Government before and after the
Constitutional Amendment in 1992.

5507/(Set : B)/ | P.T.O.
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[ e ]

[ GEOGRAPHY | [ M. M. : 10
7. fafmtor o B ? oRenfya &% 3

Give definition of Manufacturing Industry.

8. MUY JEN T ? 2

What are Basic Industries ?

9. =GR & 9T & JWHFRE I JeiRid #X 5
Represent the following on the outline map of India :
(i) BT

Koyana Dam
(i) YRIR My
Pariyar Dam
(iii) THET &
River Narmada
(iv) Temdl &l
River Mahanadi
(v) ORE HYE
Paradeep Seaport
AYAT
OR
P H IR B AR @@ H S B AT HY

Give definition of Farming (Agriculture) and describe "Rice" crop.

[ Srdemre |
[ ECONOMICS ] [M. M. : 10
10. qRUliEar &1 fawd, fawbm 2 # wew@yqel & 7 aUe B 5
Why is the issue of sustainability is important for development ? Explain.
HAYAT

OR
JaeYl died wefhe, fadae dur Jdias &5 § S TR B

Differentiate between Primary, Secondary and Tertiary Sectors with examples.

11. ¥ 3 B @ g F TRy 2
State any two main functions of Banks.
12. 7 SAARE, 2005 H €859 7 /AT B 3

Explain in brief, MGNREGA Act, 2005.

5507/(Set : B)/ |



CLASS : 10th (Secondary) Code No. 5507
Series : Sec. April/2021

Roll No. SET : B
qmeTE s

SOCIAL SCIENCE

(History, Political Science, Geography and Economics)
HIMT-11
PART - 11

(aEgFrs a%)

(Objective Questions)

(Academic/Open)
[ &= wd S e |
[ Hindi and English Medium ]
(Only for Fresh/Re-appear Candidates)

o U Tq F A G F 3T FT-0T § JET T 8 T 97 40 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 40 questions.

o ghereff orgar U To FIT-UA T T [rd)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FY 37 @ [@ 98 FrRET #T o [ geT-9A §U 7 e 8, qhEr & I 59
T ig A arar @w el A aEm

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 73
General Instructions :
(i) @ Jo7 ST &
All questions are compulsory.

5507/(Set : B)/ Il P.T.O.
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(i) @& TIT Sy FAT-gréaHr H ey

Write correct answer in your answer-book.

[ 3ferd ]
[ HISTORY ] [ M. M. : 05
1. o w9 g=em g a9y garr ? 1
(A) 1815 (B) 1816
(C) 1817 (D) 1818
Vienna Congress Convention was held in which year ?
(A) 1815 (B) 1816
(C) 1817 (D) 1818
2. 9RT F GeA Hllieh THER-T HiA-A1 o1 ? 1
A) T fg (B) S To1C
(C) THMEM =Hiseh (D) S FHMER
Which was the first weekly newspaper of India ?
(A) The Hindu (B) Bengal Gazatte
(C) Samachar Chandrika (D) Bombay Samachar
3. U Yo fopeen wed g on ? 1
(A) RN A8& SR Tl e (B) §N I= S SR HereAT i

(C) o Flo HARo IFESH AR T M (D) 39 & Hi5 Tel
Poona Pact was between whom ?

(A) Jawaharlal Nehru and Mahatma Gandhi

(B) Subhash Chandra Bose and Mahatma Gandhi

(C) Dr. B. R. Ambedkar and Mahatma Gandhi

(D) None of these

4. TAERRY GEE & AGE oo 2l (cenforsT ot /e Tieft) |

The author of the book 'Gulamgiri' is ............... .
(Jyotiba Phule/Mahatma Gandhi)

5. FgeER @ v ;1 hEE & 7 1
What do you mean by Absolutism ?

5507/(Set : B)/ I
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KERICREEIEN
[ POLITICAL SCIENCE ] [ M. M. : 15
6. frfafad & § feg T # SgdeasarR & STERer R S © 7 1
(A) (B) 9Rd
(C) U (D) 9
In which nation majoritarianism is followed ?
(A) Sri Lanka (B) India
(C) Nepal (D) Bhutan
7. Afcrw § frw gfaed A &R S99 S SR 5 7 1
(A) 40% (B) 60%
(C) 59% (D) 41%
How many percentage of people in Belgium speak the Dutch language ?
(A) 40% (B) 60%
(C) 59% (D) 41%
8. WA dfage & Rl W & HEr &1 Se fhar g ? 1
(A) S s (B) omfeemie AT
(C) TgHEHs A (D) FH & &5 Tl
Which status is given to Hindi language by the Indian Constitution ?
(A) National Language (B) Official Language
(C) Majority Language (D) None of these
9. fy=femed & H-a1 o &9 gt &1 787 © ? 1
(A) fIcel T (B) H&T
() e (D) P
Which of the following is not a subject of the Union List ?
(A) Foreign (B) Currency
(C) Banking (D) Agriculture
10. 9RA ¥ ARl & T e & -8 ®«RX W G & AR B m@ e ? 1
(A) T 91 (B) WM TR M&™
(C) % | (D) foum &«
At which level of government in India the seats are reserved for women ?
(A) Rajya Sabha (B) Local Government body
(C) Lok Sabha (D) Vidhan Sabha
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11. 9RAY ST UIE &l O e g3 1
(A) 1980 (B) 1975
(C) 1970 (D) 1990
When was the Bhartiya Janata Party established ?
(A) 1980 (B) 1975
(C) 1970 (D) 1990
12. @ a9 f69 T H oD o & 7 1
(A) B (B) US
(C) HBRTS (D) &
'Shiv Sena' is the political party of which State ?
(A) Haryana (B) Punjab
(C) Maharashtra (D) Kerala
13. I I & T Fed & P AiF 9 gAE F 6% Ad AGAT 4 Gie 9 g & ¢ 1
(a) & (B) TEH &
(C) TedET T (D) T q Fig el

What is the party that has got six percent vote or four seats in the Lok Sabha
elections ?

(A) Regional Party (B) National Party
(C) Alliance Party (D) None of these
14. ©% TG TXHR has g SOERl 8kl & 7 1
(A) gl (B) &
(C) ST (D) =gl
A Democratic Government is accountable to whom ?
(A) President (B) Forces
(C) Public (D) Governor
15. % T P BISHL AL &7 J ol A BN FA Fed © 7 1
(A)  TIFIERr (B) & BIgT
(C) TA-S&a (D) H § HI3 T
Leaving one party and moving to another party is called :
(A) Transfer (B) Leave the party
(C) Defection (D) None of these
16. A ae qrbl T e Faesl § I8 e ol (7/5757) 1
Democratic system is better than other form of Government. (True/False)
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17.

18.

19.

20.

21.

22.

23.

(5) 5507/(Set : B)
I T AR FHR § Ol HARH & [ Tho[e B ard @l & THE Bl oo

%ol S ol (T & /39 TE) 1
A group of people who come together to contest election and hold power in the
Government is called a ............... . (Political party/Pressure group)
TN @M B BT BT BB «eevvnernnnnnns ad 1 AT Bl (8: i /arer ad) 1
Local Self Government bodies have a tenure of ............... years. (Six/Five)
Te € & 1 94§ 7 1
What is the meaning of Civil War ?
I O # G S & Y AaT oY 1 6 7 1
What is the minimum age to become a member of the Gram Panchayat ?
[ T ]

[ GEOGRAPHY ] [ M. M. : 15
TR Sl hE JHR H HEE © 7 1
(A) ST (B) STdIBYI
(C) WP (D) S
Which type of resource is tidal energy ?
(A) Renewable (B) Unrenewable
(C) Man Made (D) Biotic
WA & AU HEM 6 TR @ 9eT & & 8 7 1
(A) @l (B) i faE
(C) wewEe e (D) woeE e
The Northern plain of India is made by which soil ?
(A) Black soil (B) Alluvial soil
(C) Laterite soil (D) Desert soil
IRA & F S &9 Fl e Sfs A9r deE § 7 1
(A) 30% B) 20%
(C) 35% (D) 43%
How many percentage of the total terrestrial area of India is plains ?
(A) 30% B) 20%
(C) 35% (D) 43%
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24.

25.

26.

27.

28.

(6) 5507/(Set :

fr=ifafad & & @F-9 Tg & degAT HY & S o 7

(A) feuEw & (B) &R

(C) T (D) U

In which of the following states, step (Terracing) farming is done ?
(A) Himachal Pradesh (B) Haryana

(C) Rajasthan (D) Punjab

WA H -9 & § I F1 e q99 e o ¢ 7

(A) W ARA (B) gl g1e

(C) T-HagS & HaM (D) I HE

Which region of India is produced most production of wheat ?

(A) Central India (B) Western Ghat

(C) Ganga-Sutlej plain (D) Eastern Ghat

TE TN I el Bl del wd @ T 7

(A) I (B) =%

(C) Rl (D) e

Where was the first textile factory was established ?

(A) Chennai (B) Mumbai

(C) Delhi (D) Calcutta

RA & 8 &5 7 wais de-3ed e e B T ?

(A) HITET SR (B) Bl TFYR o

(C) IO-U=H & (D) GiREH! °@1e

In the which region of India, Iron and Steel industries are established ?
(A) Malwa Plateau (B) Chhota Nagpur Plateau
(C) North-West Region (D) Western Ghat

qe TERT TH I & °

(A) FR R &AW (B) @IEI¥e &

(C) TN aeRa &N (D) FH & & Tl
Textile industry is an example of :

(A) Agro based industry (B) Cooperative sector
(C) Mineral based industry (D) None of these
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29.

30.

31.

32.

33.

34.

35.

(7) 5507/(Set : B)

HiT G35 ST Bl TS e GIAT 1

(A) 1990 (B) 1980

(C) 1960 (D) 1950

When was the Border Road Organisation established ?

(A) 1990 (B) 1980

(C) 1960 (D) 1950

WA H FI9 T9T FoTME HIA-41 & ¢ 1

(A) s (B) T

(C) faumeEmeTH (D) @HEN

Which is the biggest Port of India ?

(A) Kandla (B) Mumbai

(C) Visakhapatnam (D) Kochin

uREed @1 d9 g ATEH Hi- © ¢ 1

(A) X&d (B) S qRTe

(C) §eH U (D) ag UREE

Which is the fastest mean of transport ?

(A) Railways (B) Waterways

(C) Roadways (D) Airways

SRl bl BIEHT G STABY HIT BEAT o, H Th I&TET B 1
(5 /o )

Slash and burn agriculture is an example of ................... .

(Shifting agriculture /Commercial agriculture)

URaET H T T AEH oovvnnnnnnn. 2| (1Y AR /A aREed) 1
Cheapest means of transport is ................ . (Pipe Line/Road Transport)
BRT i &1 & g B 7 1
What is the meaning of Green Revolution ?

ARG &N H IRATNT H1| 1

Define the Basic Industry.
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37.

38.

39.

40.

(8) 5507/(Set : B)

[ arefsTe ]
[ ECONOMICS ] [ M. M. : 05
.............. U TG HRF @l &, P Igdimter H kb H g B 1
(A)  FSIe (B) ol
(C) HHISER (D) TED

................. has been one of the major factor that has stimulated the
globalization process.

(A) Democracy (B) Monarchy

(C) Socialism (D) Technology

2006 % AR fag@ AR €6 & e 29 qee & 7 1
(A) 100 (B) 120

(C) 149 (D) 200

According to 2006, how many countries were the member of World Trade
Organization ?

(A) 100 (B) 120

(C) 149 (D) 200

Rpiceh TTET BT QBT X Th AR Bl SAGT BTN v % T T Bl 1
(A) a8 (B) fadEs &=

(C) T & (D) FH & & T

Production of a goods by exploiting the natural resources, in an activity of the
............... sector.

(A) Primary (B) Secondary

(C) Tertiary (D) None of these

ufer iR ST B .o % TW & A ST S 8 (7 oma/afeq o) 1
Per capita income is also known as ................. . (Total income/Average income)
ag] fafvma gomelt & Fn o B 7 1

What is the meaning of Barter System ?
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Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 12 and of Part-II are 40.

o P AT BT I F FT FIT-0T F JRT g 4 T 597 12 8
Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 12 questions.
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o YT 7 qlfe & & GV 77 T &S T 7Ol @ # G FACYRaH & FI-JS GT v

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o DU IS F FA GG G BT G Y&, JIT F FHH I iG]
Before beginning to answer a question, its Serial Number must be written.

o JuT-Yiasr & dia 7 @l G/ 91 7 818/
Don’t leave blank page/pages in your answer-book.

o FuTYRaE & SRk g o e T Al o sTavmdgar & g eiv fiar s 7
FI2]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

o TR T T To JeT-UH YT S7ae [
Candidates must write their Roll Number on the question paper.

o U o7 # FAT 37 § {d ' GARTGd #T T [ J97-99 [ T @& & GO B IIT 59
T 7 g o qar w&hHe T8 A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instructions :
() & FeT S 8
All questions are compulsory.
(i) T G B S FTH FTT G T &
Marks of all the questions are shown against them.
(iii) [FF F97 % T GFN F FAX TF & G G- ar Gorg
Attempt all parts of a question together.
(iv) 2 & a7 J&% F97 FT F7 30 & @ 379% 7 &
Answer to each question carrying 2 marks should not exceed 30 words.

(v) 3 FH FIA FE9% F97 F ITT 40 7 60 =T & 3EE T &l

Answer to each question carrying 3 marks should not exceed 40 to 60
words.

(vi) 5 Sl FIT HE9% 797 # I 100 & 125 =] @ 384% 7 &l

Answer to each question carrying 5 marks should not exceed 100 to 125
words.
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(vii) F97 GET 9 % [0 [fT T4 GG & & FHEA B oY FAT-gieasl & G oaey
G HIforg
You must attach the given outline map of India for Question Nos. 9 along
with your answer book.

(viii) F9IT HIEE YT ST FO-Yraw & FHE 9T [iEg

You must write your Answer Book Sr. No. on the map.

[ 3fer ]
[ HISTORY ] [M. M. : 10
1. QU ¥ ge=iih fafy i i g3 ? 2
Why did the Woodblock Method become popular in Europe ?
2. IqXA & o o e & fay & =10 g 7 3
Why were Indians outraged by the Rowlatt Act ?
3. TEU &l 7 ARG H Tgar & faobrg § ¥ YR W Hl ! W Hiw 5
How print culture assisted the growth of Nationalism in India ? Explain.
HAYAT
OR
SERENedl quT Sieanedl & =Rl S e H
Compare the views of Liberals and Conservatives.
KERICREEIEN
[ POLITICAL SCIENCE ] [M. M. : 10
4. SIS FHEC TS P 2

What is political equality ?
5. 1992 % HYUM @M & Ted AR 9& & WFIF AT & Hew@qll el H TaEU 3

State important differences between the Local Government before and after the
Constitutional Amendment in 1992.

6. Tk § T H RN F TS 2 ? IO i 5
Why is power sharing necessary in democracy ? Explain.
AYAT
OR
TSI 6 & A - A © f

What are the various challenges faced by the political parties ?
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[ S ]
[ GEOGRAPHY | [ M. M. :

7. SR I 8 7

What are Basic Industries ?

8. fafwior &/ & ¢ ARWIRG &Y

Give definition of Manufacturing Industry.

9. FY FH URAING B AR I HI Tl H AR FI
Give definition of Farming (Agriculture) and describe "Rice" crop.
AYAT
OR
i &l 9red & JEHERee T &R Y

Represent the following on the outline map of India :

(i) PEET ST
Koyana Dam
(i) 9RIR Ty
Pariyar Dam
(iii) wTHET &
River Narmada
(iv) HeMal =l
River Mahanadi
(v) O HYE
Paradeep Seaport
[ srdsme |
[ ECONOMICS ] [M. M. :

10. S%i & #i3 & T HE T

State any two main functions of Banks.

11. = SAfafem, 2005 @ @89 § e w1
Explain in brief, MGNREGA Act, 2005.

12. orefiEar & fawe, e &g F& 9wyl 8 7 aue S
Why is the issue of sustainability is important for development ? Explain.
Yqr
OR
JeTeXv died wrefhe, fadiae qer godlues &bl § SR W |

C)

10

10

Differentiate between Primary, Secondary and Tertiary Sectors with examples.
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o U Tq F A G F 3T FT-0T § JET T 8 T 97 40 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 40 questions.

o ghereff orgar U To FIT-UA T T [rd)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FY 37 @ [@ 98 FrRET #T o [ geT-9A §U 7 e 8, qhEr & I 59
T ig A arar @w el A aEm

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 73
General Instructions :
(i) @ Jo7 ST &
All questions are compulsory.
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(i) @& TIT Sy FAT-gréaHr H ey

Write correct answer in your answer-book.

[ gftrera |
[ HISTORY ] [ M. M. : 05
1. Liberalism 91 ¥ 'Liber' S ® #1 &7 & ? 1
(A) o (B) Yofters
(C) A= (D) 9HSER
What is the meaning of 'Liber' in the word Liberalism ?
(A) Republic (B) Capitalism
(C) Freedom (D) Socialism
2. ‘59 HE B B, @ aR AT B JFM B O &7, T 9= HE & ? 1
(A) FF A (B) uifcrE
(C) R (D) ¥ & i Tl
"When France Sneezes, the rest of Europe catches cold", who said these
words ?
(A) Duke Metternich (B) Nepolian
(C) Lenin (D) None of these
3. T Telfedl § R AR & Al HiF o1 ? 1
(A) ST THE= (B) SR &
(C) gy HIaR™ T (D) Hew T e
Who was the leader of Guerrilla movement in Gudem's hills ?
(A) Baba Ramchandra (B) Jawaharlal Nehru
(C) Alluri Sitaram Raju (D) Mahatma Gandhi
4. = AT T & AGF ..o 9 ( weTe Tl /Alo Ao i) 1

Author of the book 'Hind Swaraj' is ............... .
(Mahatma Gandhi/B. R. Ambedkar)

5. GoE H T o & ? 1

What is the meaning of calligraphy ?
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[ Tl fosT |
[ POLITICAL SCIENCE ] [ M. M. : 15
6. 1970 3R 1993 &% 77 # SfcstgH = el aR € § dsnee e ? 1
A 2 B) 3
C) 4 (D) 5
How many times the Constitution of Belgium was amended between 1970 and
1993 ?
(A) 2 (B) 3
C) 4 (D) 5
7. A B WG & F HF-H A FIQ SE&T ol S 8 ? 1
(A) =9 (B) wd
(C) st (D) A
Which language is mainly spoken in the Flemish region of Belgium ?
(A) Dutch (B) French
(C) English (D) Spanish
8. JMYFH M= T B dean e alds @ 6 ST © 1
(A) TR & AR o & o™ (B) a1 @i & ¥
(C) fafRm qmifse 998l & o= (D) SUEd

Power can be shared in modern democracies in the following ways :
(A) Among different organs of the government

(B) Among various level

(C) Among different social groups

(D) All of the above

9. AW Higaw # fe it € 1
(A) 2 (B) 3
C) 4 (D) S
How many lists are in the Indian Constitution ?
(A) 2 B) 3
C) 4 (D) 5
10. Il WHE THR & o f6H A & +ff I o ® 7 1
(A) T B (B) IM Y=gd
(C) Yot I (D) %% TR
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Rural local government is also known as by which name ?

(A) State Government (B) Gram Panchayat
(C) Panchayati Raj (D) Central Government
11. ¥R diae gR R el # g gl &t e e ? 1
(A) 20 (B) 22
(C) 21 (D) 19
How many languages are listed in scheduled list by Indian Constitution ?
(A) 20 B) 22
() 21 (D) 19
12. 9 faf & THR 99 & [0 &< @30 B 8, O 39 Hel S © 1
(A) SEHEIHAE (B) @HE
(C) reIah (D) TeuE
When different parties share power to form a government, it is called :
(A) Majoritarianism (B) Federal
(C) Community (D) Coalition
13. 9™ FAE AN & AR 9RG § b T & § 1
(A) 6 B) 7
C) 8 (D) 9
According to Election Commission of India, how many national parties are in
India ?
(A) 6 B) 7
() 8 D) 9
14. R TEE FHUF H @G F9 8 7 1
(A) 1886 (B) 1890
(C) 1885 (D) 1985
When was the Indian National Congress was founded ?
(A) 1886 (B) 1890
(C) 1885 (D) 1985
15. g THOER! qEl & Hed b o P 1
(A)  HisiH (B) et
(C) #HerT e (D) &&
Who was the founder of Bahujan Samajvadi Party ?
(A) Kanshiram (B) Mayawati
(C) Mahatma Gandhi (D) Nehru
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17.

18.

19.

20.

21.

22.
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Sl TR GHTEd FTl 8 1

(A) @ AR M gAE (B) TSI GHI

(C) ARTeATRT &l AT (D) W |l

Democratic Government ensured :

(A) Free and fair election (B) Political equality

(C) Freedom of expression (D) All of the above

T H T TOHICD G Bl e % U USTEBReT HIT Bl 1
(T ST /)

Every political party has to register itself with the ............... .
(Election Commission/Parliament)

e, e AR e TR & 5@ T A 1
Legislature, ................ and .......c.oeeenens are the main parts of the Government.
SEHEHHAE %I URAM 1
Define the majoritarianism.

dergd @ @ ekl s ¢ 1

What is Panchayat Samiti ?

[ e |

[ GEOGRAPHY | [M. M. : 15
Frrtferiad Toal & & fhed -F=iester 1 e FROT AfERT & 7 1
(A) FREE AR I (B) A W M TR
(C) dHoE &R eRamm (D) ¥ AR dAHATg

In which of the following states, the overgrazing is the main cause for land
degradation ?

(A) Jharkhand & Orissa (B) Madhya Pradesh & Rajasthan
(C) Punjab & Haryana (D) Kerala & Tamil Nadu

FHUE A & [T Fod SUHRT el H-dl Bkl © 1
(A) el (B) TeEE

(C) To&™ (D) UEEl

Which soil is most useful for the production of cotton ?

(A) Black (B) Laterite

(C) Desert (D) Mountain

5507/(Set : C)/ 1l P.T.O.



23.

24.

25.

26.

27.

(6) 5507/(Set
T SRS el MY TR T STAN el fhar T ?

: C)

1

(a) fd (B) e

(C) R&rfg s (D) Tl

Where was the first international earth summit organized ?
(A) Delhi (B) London

(C) Rio de Janeiro (D) Colombo

GRT T TGS B F &I ©

(A) &t (B) &%

(C) == (D) & & P& T
Agriculture of cucumber and watermelon is the example of :
(A) Rabi (B) Kharif

(C) Jayad (D) None of these
fFrfoied B § & UHl B 989 Sff (91X 8 § @ OF a9 H 99 Al § 7
a) T (B) FH

(C) dEad (D) =

Identify from the following crops, which takes almost a year to grow and ripe ?
(A) Wheat (B) Cotton

(C) Rice (D) Sugarcane
fFrfoied & o AEde HEd -9l © 7

(A) = B) ¥

(C) =ma (D) FH & &5 Tl
In the following, which is the commercial crop ?

(A) Tea (B) Wheat

(C) Rice (D) None of these

R # WM TE @ F TE B S 8 7
A) 3 (B) ¥

(C) IR D) ™

Which is the major center of the silk textile industry in India ?
(A) Mumbai (B) Mysore

(C) Amritsar (D) Pune
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28. o HgYT % RO RrHeR sgE e © 1
(A) TH AN (B) TR I&M
(C) fasTell J&m (D) HiH I
Main industry is responsible for water pollution is :
(A) Textile industry (B) Stone industry
(C) Electric industry (D) Cement industry
29. NHAI & 1 &1 & ? 1

(A) FIFS SR THIUSE Sif% 3osar

(B) S Bl3d R i givearn

(C) AIHd Bodibie STeiRer offt gfosan

(D) ¥ & g T

Write the full form of NHAI :

(A) National Highway Association of India
(B) National Highway Authority of India
(C) National Handicraft Authority of India
(D) None of these

30. TN JEAd & O & o 9l | SieH acll ds &1 Faai § 7 1
(A) T TSTER (B) T THR
(C) T TS (D) = TSh
What are the roads connecting the district head quarter to other parts of the
district ?
(A) National Highway (B) State Highway
(C) District Roads (D) Other Roads
31. ucyHiTEH JEM % [T MYRYT Fod A % T4 H oo 1 TN e S B
(StereTEe /ATa)
................ is used by aluminium industry as a basic raw material.
(Bauxite /Copper)
32. AT § GEH R FEGEAR ..o A F yERE B S g (Rt /ioh) 1
The largest number newspapers are published in ................... language.
(Hindi/English)
33. e = F A 9% W AT B (Se/=gm)

In the word Laterite, meaning of 'Later' is ...... .
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34. T P HY Fed § 7 1
What are the Commercial Agriculture ?
35. S I HI IRAMNT HL 1
Define the Public Industry.
[ Srdemre |
[ ECONOMICS ] [ M. M. : 05
36. 5l 39 & f4ohrg & AR & foT0 SrEORTE SR R S § 1
(A) uf e (B) EMERAT &
(C) ate T (D) FH & &5 T
Development of any country can generally be determined by :
(A) Per capita income (B) Literacy rate
(C) Annual income (D) None of these
37. % Y WY G Te H fhew wew A § 7 1
(A) 50-100 (B) 30-50
(C) 02-05 (D) 15-20
How many members are in an ideal self help group ?
(A) 50-100 (B) 30-50
(C) 02-05 (D) 15-20
38. TN N @ANR % fQ wioeHdl a el i seMT Haam o 1
() FriieBeT (B) IgaH
(C) Sa{HTT (D) ST
Removing barriers or restrictions set up by the government is known as :
(A) Privatisation (B) Globalisation
(C) Liberalisation (D) Industrialisation
39. WTO & F1 1 8 ? 1

What is the meaning of WTO ?
(World Trade Organisation/World Transport Organisation)

40. yfy e o e & G F/1 8 7 1
What is the formula to get Per Capita Income ?
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Roll No. SET : D
GIGIECACEIE] MAP

SOCIAL SCIENCE
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HT-1
PART -1
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(Subjective Questions)

(Academic/Open)
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77 : 21 ge] [ g% : 80 (AF-1 : 40, AFHII : 40)
Time allowed : 21 hours] [ Maximum Marks : 80 (Part-I : 40, Part-II : 40)

ge-o & AF & Rl R AR (STeiNS) wE AR-II (ﬁ%ﬁ qlemdt & aF AR & S
% I B AU IAX GRTH § @ 31 990 B OAF-L AT B W Ued SR-gRas
3 an R stom qon AE-IL % [0 Rl @ 0% qe w aWd Rar Som sreig wder @
BN T geT qd qdemel St w11 & geE-us Rar smem

-1 & OF-0 & g 12 U 0@ qF-I1 & 999-99 & Fa 40 999 8

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 12 and of Part-II are 40.

o FUT AT FH T [ G F 57 JeT-99 § FRa T 4 77 F97 12 81
Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 12 questions.
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o YT F qlfe & @ GV 77 T4 #S T 7Ol @ G FACYRaH & FI-TS Y7 v

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o DU IS F FA GG G BT G Y&, JIT F FHH I iG]
Before beginning to answer a question, its Serial Number must be written.

o JuT-Yiasr & dia 7 @l G/ 91 7 818/
Don’t leave blank page/pages in your answer-book.

o FuTYRaE & SRk g o e T Al o sTavmdgar & g eiv fiar s 7
FI2]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

o TR T T To JeT-UH YT S7ae [
Candidates must write their Roll Number on the question paper.

o U o7 # FAT 37 § {d ' GARTGd #T T [ J97-99 [ T @& & GO B IIT 59
T 7 g o qar w&hHe T8 A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instructions :
() & FeT S 8
All questions are compulsory.
(i) T G B S FTH FTT G T &
Marks of all the questions are shown against them.
(iii) [FF F97 % T GFN F FAX TF & G G- ar Gorg
Attempt all parts of a question together.
(iv) 2 & a7 J&% F97 FT F7 30 & @ 379% 7 &
Answer to each question carrying 2 marks should not exceed 30 words.

(v) 3 FH FIA FE9% F97 F ITT 40 7 60 =T & 3EE T &l

Answer to each question carrying 3 marks should not exceed 40 to 60
words.

(vi) 5 Sl FIT HE9% 797 # I 100 & 125 =] @ 384% 7 &l

Answer to each question carrying 5 marks should not exceed 100 to 125
words.
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(vii) F97 GET 9 % [ [fT T4 NG & & FHEA B oY FIT-gieasl & G oaey
G HIforg
You must attach the given outline map of India for Question Nos. 9 along
with your answer book.

(viii) F9IT HIEE YT ST FO-Yraw & FHE 9T [iEg

You must write your Answer Book Sr. No. on the map.

[ i ]

[ HISTORY ] [M. M. : 10

1. HE0 §Ei 3 9Rd # TR % foo § 66 T @erEdr S ? W i 5

How print culture assisted the growth of Nationalism in India ? Explain.
HAYAT
OR
SERATEI! T Sieaned & &= &l g H
Compare the views of Liberals and Conservatives.
2. AU ¥ ge=iie Oy &0 geid g8 ? 2
Why did the Woodblock Method become popular in Europe ?

3. ARG & o ol U & faqg § =4 9 7 3
Why were Indians outraged by the Rowlatt Act ?
[ T &= ]
[ POLITICAL SCIENCE ] [M. M. : 10
4. T § G H AEER & oed § ? aue i) 5

Why is power sharing necessary in democracy ? Explain.
AYAT

OR
TSI St & A - R § 7

What are the various challenges faced by the political parties ?

5. Sl THMEGr 94T B 7 2
What is political equality ?

6. 1992 % HATM HMET & T&dl AR T& & WFI AT & Tew@qol Hdl H TaEU 3

State important differences between the Local Government before and after the
Constitutional Amendment in 1992.
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[ e ]

[ GEOGRAPHY | [ M. M. : 10
7. fafmtor o B ? oRenfya &% 3

Give definition of Manufacturing Industry.

8. MUY JEN T ? 2

What are Basic Industries ?

9. =GR & 9T & JWHFRE I JeiRid #X 5
Represent the following on the outline map of India :
(i) BT

Koyana Dam
(i) YRIR My
Pariyar Dam
(iii) THET &
River Narmada
(iv) Temdl &l
River Mahanadi
(v) ORE HYE
Paradeep Seaport
AYAT
OR
P H IR B AR @@ H S B AT HY

Give definition of Farming (Agriculture) and describe "Rice" crop.

[ SrdeTre |
[ ECONOMICS ] [M. M. : 10
10. qRUliEar &1 fawd, fawbm 2 # wew@yqel & 7 aUe B 5
Why is the issue of sustainability is important for development ? Explain.
HAYAT

OR
JaeYl died wefhe, fadae dur Jodias &5 § i TR B

Differentiate between Primary, Secondary and Tertiary Sectors with examples.

11. ¥ 3 B @ g F TRy 2
State any two main functions of Banks.
12. 7 SAARE, 2005 H €859 7 /AT B 3

Explain in brief, MGNREGA Act, 2005.

5507/(Set : D)/ |



CLASS : 10th (Secondary) Code No. 5507
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Roll No. SET : D
qmeTE s

SOCIAL SCIENCE

(History, Political Science, Geography and Economics)
HIMT-11
PART - 11

(aEgFrs a%)

(Objective Questions)

(Academic/Open)
[ &= wd S e |
[ Hindi and English Medium ]
(Only for Fresh/Re-appear Candidates)

o PV AT BT G % FT FIT-G F JRT §T 8 T F97 40 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 40 questions.

o ghereff orgar U To FIT-UA T T [rd)

Candidates must write their Roll Number on the question paper.

o YT 49 N AT 37 @ (@ 78 FrRad &Y d [ FeT9H {7 T & 8, qhEr & IUT 59
T § g 4 qrar w@hwre T A @

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instructions :
(i) &# geT oA 8
All questions are compulsory.
(i) @& TV HGH FTAC-GikrH F [Ty
Write correct answer in your answer-book.
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[ 3ferd ]
[ HISTORY ] [ M. M. : 05
1. %fgs dRY S o1 ? 1
(A) TP (B) 3t
(C) STdqmE (D) TeTar
Who was Frederic Sorrieu ?
(A) Artist (B) Scientist
(C) Economist (D) Politician
2. THEAN R [ v aifte fomm T ? 1
(A) 1920 (B) 1921
(C) 1928 (D) 1922
In which year Non-cooperation movement was called off ?
(A) 1920 (B) 1921
(C) 1928 (D) 1922
8. U § waweH fifdT 99 @ snfawpr e fear ? 1
(A) A R (B) HH il
(C) TEH e (D) S die
Who invented the first printing press in Europe ?
(A) Martin Luther (B) Marco Polo
(C) Yohan Gutenberg (D) James Watt
4. T T ST SR F .. fo ¥ YR aud e 1
Mahatma Gandhi returned to India in ................ A. D.
5. gHiegae O U T o ? 1
What was the Vernacular Press Act ?
KERICREEIEE
[ POLITICAL SCIENCE ] [ M. M. : 15
6. FAH H HIF-G1 TYE IgHETH © ! 1
(A) == (B) A
(©) %= (D) S8

5507/(Set : D)/ Il



(3) 5507/(Set : D)

Which group is in the majority in Brusels ?

(A) Dutch (B) German
(C) French (D) English

7. SidE & AR T AR 7 1
(A) ¥ER (B) g
€ R= (D) d&
Which is the official religion of Sri Lanka ?
(A) Christianity (B) Islam
(C) Hindu (D) Buddhism

8. WRA % fhE U9 & dfagw F g} AW T F ool o @ e ? 1
() ERarm (B) U
(C) =] 3R HFR (D) TR
Which State of India is given special status by the Constitution ?
(A) Haryana (B) Punjab
(C) Jammu & Kashmir (D) Rajasthan

9. WRIY WM H HEEH B © 7 1
(A) Tsfd (B) = <R
(C) S=aqq <A (D) T | Fls 7l
Who is the guardian of Indian Constitution ?
(A) President (B) High Court
(C) Supreme Court (D) None of these

10. 9RAE IAE SN F e TeTiiicsd & Gofighd o ¢ 1
(A) 750 (B) 100
(C) 200 (D) 250
How many Political Parties are registered in Election Commission of India ?
(A) 750 (B) 100
(C) 200 (D) 250
11. ffaied & § f6d 39 7 gaoiy Saae &l IOl & ¢ 1

(a) == (B) s
(C) HIF A SHRH (D) T & FE T
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13.

14.

15.

16.

17.

18.

19.

(4) 5507/(Set : D)

In which of the following country has adopted multi party system ?

(A) China (B) India

(C) United States of America (D) None of these

% AT TST U I A BT © 7 1

() rguf (B) &= WER

(C) T TR (D) ¥ § H3 7

Who governs on the Union Territory ?

(A) President (B) Central Government

(C) State Government (D) None of these

et 3 Rigell & T A g ad &= ? 1

(A) 1960 (B) 1950

(C) 1956 (D) 1948

In which year Sri Lanka recognized Sinhli as official language ?

(A) 1960 (B) 1950

(C) 1956 (D) 1948

BT v go ¥ U% @A Ug Il (1948/1950) 1

Sri Lanka became as Independent Nation in ............... A. D. (1948/1950)

TR 9 & THT B oo el STl B (Ao M)

The Chairperson of Municipal Corporation is called ............... .
(Mayor/Principal)

ARG HYRE TS H TS oo o0 T gall (1925/1935) 1

Communist Party of India was constituted in ............... A. D. (1925/1935)

ESIECOICIIN ER I ER R 1

Define the Defection.

qIE & S @ ? 1

What is the meaning of Dictator ?

Toded WHR § AT 1§95 © 7 1

What do you mean by Coalition Government ?
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20. THARE F YRR B 1

Define the Federalism.

[ 0 ]
[ GEOGRAPHY ] [ M. M. : 15
21. e @ e TR & HEEd § 7 1
(A) e (B) ewifeh
(C) SR (D) et
What type of the resources is Iron Ore ?
(A) Biotic (B) Non-Biotic
(C) Non-Renewable (D) Renewable
22. fyfaRad HRON & | BHF-A1 RO G009 H -6 H T FRE © 7 1
(A) T Y (B) &l I Herg
(C) et =g (D) FH & &5 T
Which one of the following is the main couses of land degradation in Punjab ?
(A) Intensive Cultivation (B) Deforestation
(C) Over Irrigation (D) None of these
23. FHn Mg Frfaied & | 60 =0 7 1 S © 7 1
() fer (B) o€
(C) BRamm (D) Gl
In which of the following States is Black Soil found ?
(A) Bihar (B) Gujarat
(C) Haryana (D) Punjab
24. fr=farad & | 90T P H I\ © 1
A T B)
(C) @ (D) =™
In the following crops, the example of plantation farming is :
(A) Jute (B) Wheat
(C) Mustard (D) Tea
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25. ﬁwﬁ@aﬁﬁaﬁmaﬁw%—@%?

A) T (B) &9
(C) @wEt (D) =
In the following crops, which is the Kharif crop ?
(A) Wheat (B) Cotton
(C) Mustard (D) Gram
26. wdl g Al H PO H HET S & ¢
(A) Tl BN (B) M & el H T
(C) drmErt (D) ¥ § H3 7
Cultivation of fruits and vegetables is called :
(A) Floriculture (B) Sericulture
(C) Horticulture (D) None of these

27. SAIL & F1 318 & ?
(A) e iR e e fafies
(B) I THItqusH o 3fsan fafiics
(C) I U8 Wiithea IS 3% e fafies
(D) T & P el
What is the full form of SAIL ?
(A) Steel Authority of India Limited

(B) Steel Association of India Limited

(C) Steel and Agriculture Industry of India Limited
(D) None of these

28. fy=farad § § H-91 39 S[C B 999 T91 IJURH © ¢

(A) SA (B) ==

(C) sl (D) TifepE

In the following, which country is the largest producer of Jute ?
(A) India (B) China

(C) Brazil (D) Pakistan
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29. ANl IUET H AR B HA-A1 ©F B 7 1
(A) TBd (B) s&q
(C) drEw (D) e
What is the position of India in the production of Sugar ?
(A) First (B) Second
(C) Third (D) Fourth
30. @il agys det fhed T=fvad & 7 1
(A) §eH URaeT (B) a1g uRaed
(C) i wiRaed (D) Y
The golden quadrilateral plan is related to whom ?
(A) Road transport (B) Air transport
(C) Water transport (D) Railway
31. q 3N B A B A AR oo IR FHel 2 (Tt o) o
Trades between two countries is called ................ trade.

(National/International)

32. gffF 3fear RS T ..o 8 & ST 2l GEITAES R .
Oil India Limited is a ................ sector enterprise. (Private /Public)
33. IT T HH B KT .coonnn Rredt wed Suga A R COSIVRCAEC I,
................ soil is most useful for tea and coffee. (Black/Laterite)
34. HEX q w1 ARME T ? 1

What is meaning of Communication ?

35. gamEs o § 7 1

What are Resources ?
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[ Srdemre |
[ ECONOMICS ] [ M. M. : 05
36. fy=ifoiad & & M-8 ToY % BRI & F o 7 1
(A) eREmm (B) &%
(C) W D) fer
In the following states, which has the lowest literacy rate ?
(A) Haryana (B) Kerala
(C) Punjab (D) Bihar
37. R # T9H R USFIX S8 A Al &5 BiA-9 © 7 1
(A) TR (B) f&diia®
() s (D) 3 & #5 Tl
Which is the largest employment provider sector of India ?
(A) Primary (B) Secondary
(C) Tertiary (D) None of these
38. 9RA # FAl AT B Y FIAT 8 7 1
(A) E (B) rsafe
©) =% (D) ford J& oifw s
Currency Notes are issued by whom in India ?
(A) Parliament (B) President
(C) Bank (D) Reserve Bank of India
39. ¥ 9 orud GeiE ¥ : (mafe &=/ &) 1
Banks and Hospitals are related to : (Primary Sector/Tertiary Sector)
40. JEHT § FAT AR B ? 1

What is the meaning of Globalisation ?
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